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B = 12cm, CD = 6cm
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CP = 3cm ©]th,
. AC = 3cm
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(@)4 V13cm @ 4+1dem ® 8+3cm
@ 8+5em ® 943cm

AM = BM = 12cm, AAMO ©J|4] AO = 13
H}2]20] 13 o]E2 CM = 8cm , ACMB ©J|A]
BC = 4+v13cm ©°]t}.
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® 487 cm? @497 cm? ® 50m cm?

r2 = (2V6)% + (r - 2)?

rP=24+r>—4r+4

4r = 28

r=17 (cm)

whebA] 4] Hol= ax 72 = 497 (em?) ©]th
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7. thg 1ol OM = ON & v, 2x 9] 27|18 Fstelet,

@® 65° @ 70° ® 75° @ 80° ® 85°

AABC 7} ol SRz ol BR
(x=(180°-20°) +2=80°




8. T 1A A PT, PT'2 90
o] HAMolal, /TOT = 140° 4 o,
(TPO 9] 37|17

® 10° @)20° ® 30° @ 35° ® 40°

APOT = APOT/ (RHS %)

1
s =5 (180°~140°) = 20°
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) g\/gch @ 3V3cm? "

® ;x/gcmz @ 4+3cm?




10. AE APt AEBP 7 242 & 0 9 AL o |, LAPB ¢ 277}
100° € o, /x ©] 271=9

p 100°

@® 30° @ 32° ® 35° @)40° ® 50°

ofll

PA = PB 0|22 APAB £ o]5H Az g o]t}
. zx=(180°-100°) + 2 = 40°




11. o8 2804 T AEPA, PB = ¥ 0 9 HAlolth A0 = 2+3cm
, LZAPB = 60° ¥ W], APAB 9] Ed9] Zo]&?

A

@ 12cm (@)ISCm @ 36cm @ 48cm ® 60cm

OA:AP=1: \/322\/3:@

. AP =6cm

w4 AABP = Aol Be

AABP 9] E29] o] 6x 3 = 18(cm) ]t}




12. o3 29gof A ¥H21AAD,
HEZHAF, A2 BDE &
T ¥ 09 HAoltt. BC
o] Zo]x?

BE=BD=7-5=2(cm)
AF=AD =7 (cm)
CE=CF=7-4=23(cm)
BC=2+3=5 (cm)




13. o2 T4 BC = ¥ 0 9 AF°|22 AB,CD,AD = 25 €0
o] A uf, BC 9] Zol&?
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9lo] 1HoA AP = 4,PD = 6,DH = 2 o|E& AH =
V102 =22 = 46
w2tA, BC =46
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A AB 7 22 o] HAYL f, & AB 9
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A ~ B
2cm
O +V6em @ 2+V6em @4 V6em
@ 4cm ® 6cm

OA =7cm, OM =5cm , AM = V72 - 52 = 2V6(cm)
AB =26 x2 = 4v6(cm)




15. o 13 Zo] w2 9] o7t 8c¢m 9
A 9ol AP S EA 0 EEE HYLS
M7= & AB o] do|=9 AL

® 5v3cm @ 6+V3cm
® 7V3cm @8\/50111
® 9v3cm

@ ﬂ-ﬁ 7]_ EIJ_L]_I_L___ an_% M O]ﬂ- _6']'13 ABJ_OM,
4(cm) ©|t}.
AM = BM

= V48 = 4V3(cm) ©|t}.

B = 2AM = 8 V3(cm) ©|t}.




